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Math 10120 Finite Math
Practice Final Exam 1
May 8, 2019

e Be sure that you have all 18 pages of the test.
e The exam lasts for 2 hours.
e The Honor Code is in effect for this examination, including keeping your answer sheet under cover.

Good Luck!

PLEASE MARK YOUR ANSWERS WITH AN X, not a circle!
L (a) (b) (c) (d) () 17. (a) (b) (c) (d) (e)
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Multiple Choice

1. (5 pts.) Which of the following corresponds to the area shaded in gray in the following Venn diagram?
Remember that the notation ( )’ refers to the complement of the set ().
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2. (5 pts.) Let M be the set of Notre Dame students enrolled in a math class, let B be the set of Notre
Dame students enrolled in a biology class, and let E be the set of Notre Dame students enrolled in an
engineering class. Let the universal set, U, be the set of all Notre Dame students. In words, what is
(M N B')N E? [Feel free to draw a Venn diagram if it helps.|

(a) Notre Dame students that are enrolled in math, engineering and biology

(b)  Notre Dame students that are enrolled in engineering, and either enrolled in math
or not enrolled in biology

(¢)  Notre Dame students that are either enrolled in math or enrolled in engineering,
but not enrolled in biology

(d)  Notre Dame students that are not enrolled in engineering or math or biology

K)Q\ Notre Dame students that are enrolled in math and engineering but not biology.
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3. (5 pts.) As they cross the mountains out of Austria, Captain Von Trapp decides to take a picture of
his wife, Maria, and their four daughters and two sons. He insists that the four daughters have to stand
together and the two sons have to stand together. His wife can either be on the far left, or between the
boys and the girls, or on the far right. In how many ways can they line up to take the picture?
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4. (5 pts.) How many different words (including nonsense words) can be made from rearrangements of
the letters in the word
BASKETBALL?

(Note there are two B’s, two A’s and two L’s. The “words" must use all 10 letters.)
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5. (5 pts.) A club has 11 members. They have to choose some members to form a planning committee
for an upcoming event. The conditions are:

(i) At least one club member has to be on the planning committee.
(ii) Bob, as club president, is not going to be on the committee.

In how many ways can they choose the committee?

(a) 211 -2 (b) 21 -1 (c) 210 2 -1 (e) 210 -2
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6. (5 pts.) Alice, Bob, Connie and Doug have just finished their main course at a restaurant, and the
waiter brings a tray with 8 different pieces of (different kinds of) cake. In how many ways can the waiter
give a piece of cake from the tray to each of Alice, Bob, Connie and Doug? [E.g. if he gives the piece of
chocolate cake to Alice, he can’t also give it to Bob, Connie or Doug,|

(W) 1680 (b) 70 (c) 336 (d) 32 (e) 4096
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7. (5 pts.) A litter of puppies has six male puppies and three female puppies. In how many ways can
little Billy choose three so that he takes two males and one female?

(a) 84 (b) 18 (45 (d) 90 (e) 36

= ~. 3 = —
c(e2) s c(n) = s s

8. (5 pts.) Rafael has to walk 12 blocks, from the school (marked by S on the following map) to his

house (H), but on the way he wants to stop by his friend Adela’s house (A). How many possible routes
does he have to choose from, assuming that he only walks east or south?

S
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9. (5 pts.) An experiment has sample space S = {a,b, ¢, d,e}. Define events E = {a,b} and F' = {b,d}.
If P(c) =0.2 and P(e) = 0.4, what is P(EU F)?

(a) 0.6 (B 04 (¢) 1

(d 0 (e)  There is not enough information to say.

P(EUFXI f(gq/éJJz>
A G ()( {Q,QJJZ/B - 0.4
R P( { C/ CI )

- | —0.2 — 6.4

10. (5 pts.) I place some of my dog’s toys in a box, and I tell him to choose one toy. The box contains 4
tennis balls, 2 orange rubber balls, and 1 flying disc. The orange rubber balls are his favorite toy, so he
tends to choose the orange balls more often than the other toys. If S is the sample space, T is the event

Ses a tennis ball, and O is the event my dog chooses an orange ball, which of the following is
FALSE?

a) T and O are mutually exclusive events

(

(b) P(5)=1
(¢c) n(TUO)==6
(

d TCS

w The outcomes in S are equally likely
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11. (5 pts.) If £ and F are events, P(E) = 0.3, P(F) = 0.5, and P(EU F) = 0.6, what is P(E N F)?

(a) 0.6 b) 0 (¢ 08

p(Euf) = P(E) « P(F) _pl(EaF)

06 = 0.3+ ©.$ — P(EQF‘

F(EaF)= 03705~ 0.€

'l

- o

(yq 0.2

(e) 0.15

12. (5 pts.) An experiment consists of rolling a 6-sided die twice and recording the two numbers rolled.
What is the probability the same number is rolled on both dice?

1 1 1
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13. (5 pts.) Calvin draws 5 cards from a standard deck of 52 cards. What is the probability he draws 3
Queens and 2 aces?

(@) C(43)002) M e © 22
C(4,3) C(52,3)C(49,2)
@) G2.5) (€) C(52,5)

donoinimater o cls2 <) m*#ﬁw“]gﬁc{«wf? & cords fromq decl of 52,

-ﬁsﬁwwf\) }J 37wu«,\g (st 71 Lf\ = cly,3)
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14. (5 pts.) Every summer, the math department courtyard is home to some (very cute) baby ducks.
When the mother duck is away, I only have a 10% chance of seeing the baby ducks when I look out the
window. When the mother duck is around, I have a 60% chance of seeing the baby ducks. The mother
duck is around 70% of the time. If I look out the window, what is the probability I'll see the baby ducks?
(Hint: A tree diagram may help!)

QQ 0.45 (b) 0.1 (c) 06 d) 0.7 () 0.42
M‘;,:" 9'6 (e b"'\(j\\ff
~
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15. (5 pts.) The following table gives information about the books at a certain bookstore.

‘ Number of Paperbacks ‘ Number of Hardcovers

Fiction 4000 2000

Non-fiction 1000 4000

A book is chosen at random. What is the probability it is Fiction given that it is a paperback?

() o O [ @ 1 €@ 0
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16. (5 pts.) A bag contains 10 marbles, of which 7 are blue and 3 are green. Kevin plays a game where
he draws up to 2 marbles (in succession and without replacement) from the bag. Once he draws a green
marble, he stops, and he wins. If he doesn’t have a green marble after he draws the second marble, he
stops and he loses. If we know Kevin won the game, what is the probability the first marble Kevin drew
was green?
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17. (5 pts.) There are two printers which are convenient for me to use from my office. Printer A is out
of order 1/6th of the time, and Printer B is out of order 1/5th of the time. Assuming the printers break
down independently, what is the probability that at least one printer is working when I try to print final
exams?

5 29 4
(a) 30 (b) 3 (c) 6 @{ 30 (e) 5

18. (5 pts.) Twenty college students are asked how many final exams they have to take this semester.
The results are given in the following frequency distribution

Number of Exams | Frequency
0 4
1 3
2 4
3 7
4 2

What is the (population) standard deviation of the number of exams taken?
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19. (5 pts.) We have the following histogram for a random variable, X.

0.4
&
= 0.2 0.2
<
Q
2
[a W)
0.1 0.1
2 3 4 5 6
Value of X
What is P(X < 4)7
(a) 0.6 by 08 () 0.2 (d) 04 (e) 1

O.2toy+t0. = 0.9

20. (5 pts.) Kelly pays $2 to play the following game. Kelly draws two cards from a deck containing 20
cards consisting of 4 aces, 4 kings, 4 queens, 4 jacks, and 4 tens. She wins $10 for each ace she draws
and wins nothing if she draws no aces. Let X be Kelly’s net earnings. Which of the following is the
probability distribution for X7 (Note: We defined X to be Kelly’s net earnings, so the possible values of

X should take into account how much Kelly pays to play the game.)

k| P(X =k)
2] 12/19

g 32/95 (b)
18| 3/95
k| P(X =k)
0 12/19

(A 40 32/95 ()
20| 3/95

P(X\—/@_)

(1/{67
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k \}%)(::k)
10 32/95
20 3/95
k| P(X =k)
2 12/19
8 35/95
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21. (5 pts.) Fred’s flight home to Los Angeles for the summer has been canceled. He’s booked on a new
flight, flight C, that leaves 9 hours later. However, there are two earlier flights going to Los Angeles, and
if there is space available, he can get on one of these flights instead. The first of the two, flight A, leaves
in 2 hours, and there is a 20% chance Fred will be able to get on flight A. The next flight, flight B, leaves
in 5 hours, and there is a 40% chance Fred will be able to get on flight B (assuming he hasn’t already left
on flight A). If Fred can’t get on flights A or B, he will leave on flight C in 9 hours. Assuming Fred takes
the earliest possible flight, how many hours (starting now) should Fred expect to be in the airport? (Hint:
Define a random variable and compute its expected value. Keep in mind that Fred only takes flight B if
he misses flight A and only takes flight C if he misses A and B.)

W 6.32 (b) 9

(e) 5

22. (5 pts.) Hannah goes to the store every night during finals week to buy a Stayin’ Awake energy
drink. Unfortunately, everyone wants to buy a Stayin’ Awake drink, so the store is often out. If the store
only has Stayin’ Awake energy drinks available about 30% of the time, what is the probability (rounded
to 3 decimal places) Hannah will be able to buy a Stayin’ Awake energy drink at least 2 of the 7 nights
of finals week?

(a)  0.329 (b)  0.753 (¢) 0.996 (] 0.671 (e)  0.004
P(SucceSgB =p = 0.3 n=1 (SMCC'(’SS Al an S gL\L ?,u/*g hoc odriale )
(1 = 0.7

()(\(22\ = |- P(X:O,{\
o 7 (6
~ (= [CH'OW 7 v e g ]

S (- {(@q\; . 7(@35(09% ] = 1 —0.329
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23. (5 pts.) At a certain hospital, weights of newborn babies are normally distributed with mean 7.2
pounds and standard deviation 1 pound. What percentage of babies born at the hospital weigh between
6 and 8 pounds? (All answer choices are rounded to one decimal place.)

(a) 2% (b)  78.8% }Q 67.3% (d) 11.5% (e) 90.3%
<( L PR pleexEk) = Ales)r A
¢ l
////(// > _ p.avel 4+ 0.3847
: /( &, = D\ - 0.3
b 22 3 ( =0 {730
s

- 2.3

=
24. (5 pts.) Consider the following linear programming problem:

A company has factories in Cleveland and in Toledo that manufacture sofas and wheel-
barrows. Each day the Cleveland factory is operating, it produces 500 sofas and 400
wheelbarrows, at an operating cost of $18,000. Each day the Toledo factory is operating,
it produces 300 sofas and 200 wheelbarrows at an operating cost of $15,000. An order is
received for 2,500 sofas and 2,100 wheelbarrows. For how many days should each factory
operate to fill the order at the least operating cost?

Which of the following is one of the constraints that we get when we translate the problem to mathematical
language? In the following, = is the number of days the Cleveland factory should operate, and y is the

number of days the Toledo factory should operate. [Hint: pay careful attention to the inequalities: should
it be < or >7]

(a) 400z + 200y < 2,100 {8) 400z + 200y > 2,100
(¢) 500z + 400y < 18,000 (d) 500z + 400y > 2,100

(e) 400z + 200y < 18,000

gntmg §0O x T '5007 > 2500
whadborrows Yoo x A 299 > 200
zo z
% L
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25. (5 pts.) Consider the system of inequalities ' )
Testh pO(V\)l (0,0) "{\\0\:\(5 sy 05— s ‘ﬁq(ge

r — y < -1

r + y < 4 test poat (0 0\ worls sne ocq o4
xz > 0 ] / ' -
y =2 0

Which of the following shaded regions is the feasible set for this system of linear inequalities?

l‘—y:—l LU—y:—].
: N
y: = y:
(a) =0 r+y=4 M =0 r+y=4

xf_y:—l
! "y =0
Cres)fc?
26. (5 pts.) Find the following matrix product: U3 ~ [,( S’j
1 2 o —f
(1 23] -1 3 [‘i’] ]
0 —1 [-c s |3
= [
M [ 2] (b) [ -1 5] (¢) [20]
)
(d) 0 (e)  This product does not exist.
-1
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27. (5 pts.) In the 1980 presidential election, Reagan (R) and Carter (C) played a game where each one
made a statement. If both made a true statement, Reagan picked up 10 percentage points (and Carter
lost 10 percentage points) in the next poll. If Reagan’s statement was true and Carter’s was false, Reagan
picked up 5 points. If Reagan’s statement was false and Carter’s was true, Carter picked up 3 points. If
both statements were false, Reagan picked up 6 points. Which of the following is the pay-off matrix (for
R) for this zero-sum game?

T F T F
() T|10 -3 (b) (¢) T|-10 3
F| 5 6 F| -5 -6
| T F T F
(d T|10 T[] 10 5 C
F|-3 5 D%I F|-3 6 - F
™ (OS’/
R
Fl-3 6

28. (5 pts.) The following is the pay-off matrix for the row player in a zero-sum game:

1 3 2
0 -1 3
-3 -2 5 @\g Co\[cu\/@o\{ﬁoa
Which of the following statements is true?
£ 2
(a)  The game is strictly determined with a value of 5. ) @ 3
(b)  The game is strictly determined with a value of 3. @ -t S
% The game is strictly determined with a value of 1.
(d) The game is strictly determined with a value of 0. - kg A uim‘A o—l,,
(e)  There is no saddle point in this matrix.
o I 3

SN

15



Name:

29. (5 pts.) Rus8ig (R) and Canada (C) play a zero-sum game, with pay-o

i

rategy matrix? Note: t

rix for R given by

What is Canada’s optimal mixe
help (page 17).

o [B] o [

rmula given at the end of the exam may

M)

i
3
T+ -2
30. (5 pts.) Rudolph ( ith pay-off matrix
Which of the following are the stra i olph (where y is the expected pay-off)?

(a) y=4p+landy=4—-2p b) y=3p+2andy=4—3p

(c) y=6pg—2p—3q+4 (d) y=5p+landy=2p+4

(e)  This is a fair game so thggare no strategy li

\IjV\D/‘ﬁ
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R’s optimal strategy is given by [p1  pa|;

p1 =

C’s optimal strategy is given by

ail + az — a2 — a1

If both players pla eir optimal strategies, then the expected pa (or value of the game) is

ail - Gz — a12 - G21
ail + a2 — a2 — a21

17



Area Under the Standard Normal Curve

Z A z A % A z A z A z A z A
0.00  0.0000 0.50 0.1915 1.00 0.3413 1:500 (/4337 2.00 04773 2.50  0.4938 3.00 0.4987
0.01  0.0040 0.51  0.1950 1.0  0.3438 1.51  0.4345 2.01 0.4778 251 0.4940 3.01 0.4987
0.02  0.0080 0.52  0.1985 1.02  0.3461 1.52 0.4357 2.02 0.4783 2.52  0.4941 3.02 0.4987
0.03  0.0120 0.53 0.2019 1.03  0.3485 1.53 04370 2.03 0.4788 2.53 0.4943 3.03 0.4988
0.04 0.0160 0.54 0.2054 1.04  0.3508 1.54 0.4382 2.04 0.4793 2.54  0.4945 3.04 0.4988
0.05 0.0199 0.55 0.2088 1.05 0.3531 1.55 0.4394 2.05 0.4798 2.55 0.4946 3.05 0.4989
0.06  0.0239 0.56 0.2123 1.06 0.3554 1.56  0.4406 2.06  0.4803 2.56  0.4948 3.06 0.4989
0.07  0.0279 05748802157 1:074551033 577! 1.57 0.4418 2.07  0.4808 2.57 0.4949 3.07 0.4989
0.08 0.0319 0.58  0.2190 1.08  0.3599 1.58  0.4430 2.08 04812 2.58 0.4951 3.08  0.4990
0.09 0.0359 0.59 0.2224 1.09 0.3621 1,59 ¢ 0444] 2.09 0.4817 2.59 0.4952 3.09 0.4990
0.10  0.0398 0.60 0.2258 1.10  0.3643 1.60  0.4452 2.10  0.4821 2.60  0.4953 3.10 0.4990
0.11  0.0438 0.61 0.2291 1.11  0.3665 1.61 0.4463 2.11 0.4826 2.61  0.4955 31 0.4991
0.12  0.0478 062 102324 .12 0.3686 1.62  0.4474 2:12 1 0.4830 2.62 0.4956 312 0.4991
0136400517 0.63  0.2357 12 1350:0.3708 1.63  0.4485 2.13  0.4834 2637 0.4957 3.13  0.4991
0.14  0.0557 0.64  0.2389 1.14 20,3729 1.64  0.4495 2.14  0.4838 2.64  0.4959 3.14 0.4992
0.15  0.0596 0.65 0.2422 11544403749 1.65 0.4505 2.15 0.4842 2.65  0.4960 3.15  0.4992
0.16  0.0636 0.66  0.2454 1.16  0.3770 156688104515 2.16 0.4846 2.66 0.4961 3.16 0.4992
0.17  0.0675 0.67 0.2486 1117 03790 1.67 0.4525 2.17  0.4850 2.67 04962 3.17  0.4992
0.18 0.0714 0.68 0.2518 1.18  0.3810 1.68 = 0.4535 2118 5 (04854 2.68 0.4963 3.18 0.4993
0.19 0.0754 0.69 © 0.2549 1.19 0.3830 1.69 0.4545 219 =0 4857 2.69  0.4964 3.19  0.4993
0.20  0.0793 0.70  0.2580 1220 0.3849 170050 4554 220  0.4861 2.70  0.4965
021 0,083 0715002612 1:21 0.3869 1:71 §a0d564 22186 04865 2719001966
0.22 - 0.0871 0.72. 02642 122 0.3888 1072 804573 222 04868 272 04967
0.23  0.0910 073 02673 1.23 03907 173 % 04582 2236 04871 2.73  0.4968
0.24  0.0948 0.74  0.2704 1.24 03925 1.74  0.4591 224 04875 2.74  0.4969
0.25  0.0987 0.75 02734 1.25 103944 1.75 0.4599 225 0.4878 2.75  0.4970
026  0.1026 D.76 . 02764 1.26  0.3962 1.76 = 0.4608 2.26.  0.4881 2,76 0.4971
0.27  0.1064 0.77  0.2794 1.27 10,3980 1.77 04616 227 0.4884 2.77  0.4972
0.28 0.1103 U781 00,2823 1.28  0.3997 1.78 . 04625 2285 0 ARST 2.78  0.4973
029 0.1141 0.79  0.2852 12 0RE 0 40] 5 1.79° 04633 2.29  0.4890 2.79  0.4974
030 0.1179 0.80  0.2881 1.30  0.4032 1.80  0.4641 230 0.4893 2.80 0.4974
03101217 0.81  0.2910 1.31 . 0.4049 1.81  0.4649 2.31 0.4896 2.81 0.4975
032 0.1255 0.82  0.2939 1.32  0.4066 1.82  0.4656 232 0.4898 2.82  0.4976
033 0.1293 0.83  0.2967 1.33  0.4082 1.83  0.4664 233 0.4901 2.83 04977
034 0.1331 0.84  0.2996 1.34  0.4099 1.84  0.4671 234 0.4904 2.84 04977
035 0.1368 0.85  0.3023 135 04115 1.85  0.4678 235 0.4906 2.85 0.4978
036 0.1406 0.86  0.3051 136 04131 1.86  0.4686 236 0.4909 2.86  0.4979
037 0.1443 0.87  0.3079 137 04147 1.87  0.4693 237 04911 2.87  0.4980
038 0.1480 0.88  0.3106 1.38  0.4162 1.88  0.4700 238 04913 2.88  0.4980
039 0.1517 0.89 03133 139 04177 1.89  0.4706 239 0.4916 2.89  0.4981
040 0.1554 0.90 03159 140 04192 1.90 04713 240 04918 290  0.4981
041 0.159] 091 03186 141 0.4207 191 04719 241 0.4920 291 04982
042 0.1628 092 03212 1.42° 0.4222 1.92 04726 242 0.4922 292 044983
043 01664 0,93 03238 1.43 04236 1.93 04732 243 04925 293 044083
044 0,1700 0.94  0.3204 144 0.4251 1.94 04738 244 04927 204 Q.08
045 0,1736 095 0.3289 145 0.4205 195 04744 245 044920 208 (.08
046 01772 0,96 03315 146 04279 196 0.4750 240 04931 290 0.4088
047 0,1408 0.97  (0.3340 147 04292 1.97 04750 247 04932 297 04983
0.4% 0.1444 0,94 0,3365 148 04300 1.8 0.4702 2N 04934 208 04086
049 01479 0,99 0,33489 149 04319 199 044767 2600 044030 200 (.08
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Math 10120 Finite Math
Practice Final Exam 1
May 8, 2019

e Be sure that you have all 18 pages of the test.
e The exam lasts for 2 hours.
e The Honor Code is in effect for this examination, including keeping your answer sheet under cover.

Good Luck!

PLEASE MARK YOUR ANSWERS WITH AN X, not a circle!
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12. (a) (b) (o d) e) 28. (a) (b) (o) d e)
13(a) ........... (.) ........... (C) ........... (d) ........... (e) 29(a) ........... ( b) ........... (C ............ (.) ........... (e)
14. (o) (b) c (d) (e) 30. (e) (b) (c (d) e




